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1. Introduction
In RAN4 #82bis, there was further discussion on performance requirement for MUST and WF in [1] was approved. For MUST case 1/2, i.e., superposition transmission, following agreements were reached. 

	Test
	TM
	Rank
(N+F)
	p-a 
(dB)
	p-a-must 
(dB)
	Power ratio
	MCS
	Antenna
	Channel

	A1
	2
	1+1
	-3
	N/A
	264.5/289 (3rd)
	#9 
	2x2 low
	EVA5

	A2
	3
	2+2
	0
	-3
	144.5/167 (2nd)
	#10
	
	

	A3
	4
	2+1
	0
	-3
	128/138 (2rd)
	#10 
	
	


· Agreed test cases: A1 and A2
· A3 is to be confirmed in the next meeting
· Other detail test configurations to be discussed in Email reflector before April 21
· Companies are encouraged to provide alignment results and impairment results in the next meeting
Simulation assumption for test cases were also circulated on RAN4 email reflector [2]. In this contribution, we provide simulation results for candidate test cases for MUST case 1 and 2.  

2. Simulation results
Simulation was run according to test set up provided in [2] on RAN4 reflector. Figure 1 and 2 shows simulation results for FDD and TDD. Table 1 is our proposal for CINR requirement to achieve 70% peak throughput with impairment margin. 
Table 1. CINR requirement with impairment margin

	
	A1 (TM2)
	A2 (TM3)
	A3 (TM4)

	FDD
	13.82
	19.10
	16.30

	TDD
	13.20
	18.90
	15.75
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Figure 1. FDD simulation results for MUST case 1/2
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Figure 2. TDD simulation results for MUST case 1/2Conclusions

3. Conclusion

In this contribution, we provided simulation results for MUST case 1/2. Based on our simulation results, we propose following for CINR requirements for MUST test cases. 
Table 1. CINR requirement with impairment margin

	
	A1 (TM2)
	A2 (TM3)
	A3 (TM4)

	FDD
	13.82
	19.10
	16.30

	TDD
	13.20
	18.90
	15.75
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